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§) R fafed Sear faftme St Fe H (X6 o) 9. TRAGRAHEANET SRR a1 I
HTETER FEd H HEATH o HIU FHUATAT UM Het 378, 38 AFS et I SR IHIIRTER AEH ST
Tl “ORIeITER BIoT=aT TRUBRIAT AT U SAHfaH-827 ATiel dRARIER HRETS SUdd 456 &
3O e AT UehT TAT HRIGTATEAT 10T / fehall S0 Ueh 85T Tehal Serea f¥18id urs glgen.

9) T WEURRhATR! SR fafed Fetel des HITAMTR SHGARTEAT & FTY ETohT Wi sRiaR ULIaeRetianed g3
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AW AT o YHgaTa= Areron

GENERAL STUDIES AND INTELLIGENCE TEST

1. W HIVET UM Thad TTIedT TeiTe QoI el ?
(1) w@& (2) sieieR
(3) iR (4) ==
Which of the following countries revalued its currency recently ?
(1) India (2) SriLanka
(3) Pakistan (4) China
2. o geiterpaR it Trsarer S FE o T s ?
(1) TR (2) FARH
(3) Mg R (4) TE WY
Name the State where Mr. Sushilkumar Shinde has been appointed as Governor.
(1) Gujarat (2) Karnataka
(3) Andhra Pradesh (4) Madhya Pradesh
3. ¥ o0y o WIAAAIS S TRATF ---mm- AT JUATT ST
(1) o we (2) W TR
(3) oA ==l (4) ot e
The Nobel Peace Prize for the year 2004 was awarded to
(1) Wangari Maathai (2) John Maathai
(3) Shirin Ebadi (4) Jimmy Carter
4. S Rooy T HRAA WA RIS L. TR FFAT --------- 1 NIRRT I HLoaTd 3.

(1) Sideh SR TIRAE 00y
(2) ST HE AIRANSEF 003
(3) STIciER AT QUi eh ook
(4) e 3= TRl ooy

Indian Scientist Modadugu V. Gupta was awarded with ___ in June 2005.
(1) World Health Prize 2004

(2) World Agricultural Prize 2003

(3) World Peace Prize 2005

(4) World Food Prize 2005

5 P.T.O.
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(1) Bt () W&
(3) R (4) <R

Constituency had the maximum number of contestants in 2004 Maharashtra
Legislative Assembly Elections.

(1) Shirdi (2) Parel
(3) Chimur (4) Sakri
LE AN AT [ 1 eI Wi T

(1) =FT. (2) TF
(3) wrSL (4) THaU

Prakash Karat is the Secretary of the .
(1) CPLMM) (2) CPL
(3) B.J.P. (4) Samata

(4) o T fafe

The Chief Minister of the State of Rajasthanis .
(1) Sheela Dixit

(2) Mulayamsingh Yadav

(3) Vilasrao Deshmukh

(4) Vasundhara Raje Scindia

FHAT 4] 1A S e ?

(1) &R (2) IFeTEEE
(3) smm 4) ww
Where does the Yamuna river join the Ganga ?

(1) Haridwar (2) Allahabad
(3) Agra (49) Meerut
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9.

O
VT ITTHETER! TR TF 3R ?
(1) Tz (2) oiEs TR
3) A (4) wmER

Durgapur is famous for which industry ?

(1) Cement (2) Iron and Steel
(3) Glass (4) Sugar
10. T HUTET FehH SR § FREFGRIT Hid! e 0Tl ?
(1) iaEn (2) Iw"TH
(3) o QRaEar (4) TEmE
Which of the following factors has revolutionised the trade industry ?
(1) Population (2) Transportation
(3) Power Supply : (4) Climate
11. GESIHF SFidler stasTs faea drem fmtor womT “BHEL” 81 SR @ieiiedes! shiorear faehroft
3me ?
(1) == (2) o
(3) WEATR (4) &R
“BHEL”, a public sector industry manufacturing heavy electrical equipments is located at
(1) Chennai (2) Bhopal
(3) Bhubaneshwar (4) Hyderabad
12. Telterdeht hior fadm @i 4 sestdier TRaTel HREFSRIS 3T Jui Hd ?

(1) A STeiad o WEeh SUdiT! a&qen waifed.

(2) T ST S, SRR GEHNT F Jigdelt Scargel Fei.

(3) 3T S, QST STET HEHIT o Weh YA AR HAi<a.

(4) ST ST, QT ST TeS0T  Higael SRS gt

Which of the following statement represents the correct pre-independence industrial scene
of India ?

(1) Import dependent, limited to consumer goods.

(2) Import independent, Government involvement, limited to capital goods.

(3) Import dependent, involvement of private sector and limited to consumer goods.

(4) TImport independent, involvement of private sector and limited to capital goods.

7 P.T.O.
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13. ‘afascl’ HEs Fac au HUdw S ?
(1) 2ere (2) R
(3) w3 (4) 2uE
The Act prohibiting “Sati” was passed in the year
(1) 1818 (2) 1829
(3) 1837 (4) 1856
14. o7 ST AR - e T o
(1) g &, TR SRS, B 643
(2) B FIA, T HH Fedl ATA
(3) Diear TEIH I, HATGIT STSTRYS
(4) P! ATSA, HH! HETR, HHT FHedl AA
Small Scale Industries
(1) deal with small area, small market, small machines.
(2) deal with small machines, small bulk of raw materials.
(3) deal with production of small items, small market.
(4) deal with small capital, few labourers, small bulk of raw materials.
15. 7. §. IRE WA 0T S I FHON= SFaritd Ko o ?
(1) = (2) et
(3) 4 (4) wrfsTR
G.S. Parkhe Prize is awarded to the person working in the field of
(1) industry (2) agriculture
(3) music (4) social work
16. ST W ICMGATHIS, —--=---=m- T AT,
(1) wHt arolt o et 5w (2) ST AT F FHE A
(3) ITRT WO o ST 5 (4) HH IOl F ST SH

In small scale industries, a silk manufacturing unit requires
(1) alittle amount of water and a little effort.
(2) alarge amount of water and a little effort.
(3) alarge amount of water and a large effort.
(4) alittle amount of water and a large effort.
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17.

GATIR! SHIOTAT Teh T ST (FF) 3T ?
(1) 3iifiTs TRt e

(2) T fod HeHes

(3) ST o Wae

(4) R senfe fawm sty

Which of the following institutions is known as a bank ?
(1) Industrial Co-operative Institution

(2) State Finance Corporation

(3) International Development Organisation

(4) Industrial Development Bank of India

18. WreileTdsh STegHTas =T SIS, ShivwT Tesh JTaRel STt 7
(1) a9 (2) dreTEE
(3) JfFEw (4) TIES
Which of the following is used for the extraction of Aluminium ?
(1) Mica (2) Bauxite
(3) Uranium (4) Lime stone
19. <1 it HUT TEAT (ARARIAT) ----nmmmem 3¢ QT LA 107 T wrehelt
(1) odRowH (2) Ro T 00 TFH
(3) Ro 32"&‘{% Ro,000 Bég:l; (4) Ro gég:r\ﬁ ooo0 gé‘sq;
We can hear the sound of frequency between the range of .
(1) O0to20Hz (2) 20Hzto200Hz
(3) 20 Hzto 20,000 Hz (4) 20Hzto 2,000 Hz
20. I Sl BT UGTe VT i AR At

(1) et (2) wRETh
(3) Hm 4) FeHEs
Which insect produces a substance called “royal jelly” ?

(1) Honey bee (2) House fly
(3) Bumble bee (4) Butterfly

9 P.T.O.
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21, “TERES § e AT e AR

(1) @il sie (2) I=

(3) eI e (4) aeTde! THel e,

“Light year” is a unit used to measure )

(1) Astronomical distance (2) Time

(3) Intensity of light (4) None of the above
22.  ASTHSYOT &T ---emmv ST STHEeS Al

(1) &F-SHaage (2) -STagE

(3) H-Straae (4) S-Slawa

Deficiency of _ causes night-blindness.

(1) Vitamin-A (2) Vitamin-D

(3) Vitamin-K (4) Vitamin-B
23. GTEteTdshl Wiftes TRIAT HivrEr e ThE THH TR 7

(1) FnaaD (2) & Ty

(3) FEEFA (4) amagaT

The pair of physical quantities having the same unit is

(1) energy and force (2) work and power

(3) work and energy (4) velocity and momentum
24, YR ¥ SY SHIOT AT STURTEIS! e ?

(1) feaam (2) =yHE

(3) W (4) <t

“Insulin” is used for the treatment of :

(1) Malaria (2) Diabetes

(3) Cholera (4) Small-pox
25. WTOACTI! HIvI HZehT=AT STTueRET YRR are ufRune gid ATel.

(1) wARA (2)  F-SEAHa
(3) F-STaE (4) s-SioE
Excess intake of the following is not harmful to the human body.
(1) Fluorine (2) Vitamin-A
(3) Vitamin-B (4) Vitamin-D

10
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26. TR A 4 G ST sfgaw N fie - ST,
? N y

(1) 3 SA=R (2) R4 IERX

(3) ¥ ITEX 4) - ¥TEX

A convex lens of focal length 25 cm will have the power of the lens =

1

(1) 5 Diopter (2) 25 Diopter

(3) 4 Diopter (4) -4 Diopter
27. ¢4 AER HITET SIGTIET HivT giell ?

(1) w=T@H (2) wEQE glect

(3) wERIEl TH (4) faue seen

Who was the Mughal Emperor in 1857 ?

(1) Baktkhan (2) Bahadurshah First

(3) Bahadurshah Second (4) Siraj Ud-duala
28. ‘iHleaarl AT AGH HUT AF@e A ?

(1) wMuSFS TEe (2) TS I AR

(3) HeTeN RE FA (4) e & e

Who is known as “Lokhitwadi” ?

(1) Gopal Krishna Gokhale (2) Gopal Ganesh Agarkar

(3) Mahatma Jotirao Phule (4) Gopal Hari Deshmukh
29. GIEleTdeh! ST A HideIel Te6eAT AgeaT@Telt SAaUANT SetedT 166 3Tdl (333¢) Wi 95

.

(1) =t IR, e, v, F. T, fe. . qaRe, 96K .
(2) T EIgT TY, WL 3TeH THH, TRER =, oy =i o
(3) UH. S TS, GEA™T S, Toof. WY, ST, fReisTereT Hea.
(4) GoHTE TR, F. . deiT, TS I, RIS AR,

Which of the following leaders were the Committee Members of the ‘Nehru Report’ (1928)
under the leadership of Motilal Nehru ?

(1) B.R. Ambedkar, M.K. Gandhi, V.D. Sawarkar, Sardar Patel

(2) Tej Bahadur Sapru, Sir Ali Iman, Sardar Mangal Singh, Subhash Chandra Bose
(3) M.G. Ranade, Surendranath Bannerjee, W.C. Bannerjee, Phirozshah Mehta

(4) Subramaniyam Iyer, K.T. Telang, Narendranath Sen, Dadabhai Naoroji

11 P.T.O.



BYT

30. STICTS PTeUTt ShIUTeaT SR ISERIGeat ShRIRarT Sietl 7
(1) e F=H (2) oIS sl
(3) e feea (4) e R
Partition of Bengal was carried out under the Viceroyalty of
(1) Lord Curzon (2) Lord Dalhousie
(3) Lord Lytten (4) Lord Ripon
31. ‘SRR AT FAGATI ------- Tt TUT T ShidiRTATRS WA el
(1) qEzT" (2) oREE =Y
(3) FHaEw (4) Ta. 3. FERER
inspired the youth for revolutionary work through his paper ‘Vande Mataram’
(1) Bhupendranath (2) Arobindo Ghosh
(3) Khudiram Bose (4) V.D. Savarkar
32. el [Eeicarent FeawaT dehH Y FAI=A ISa3Id Tewr 3R .. ......
(1) digHT gt 9=
(2) &N =
(3) . FETERS AiEeE
(4) forger st g
Who, out of the following, participated in the Temple Entry agitation at Vaikom in Kerala ?
(1) Pandurang Sadashiv Sane
(2) Maharshi Karve
(3) Dr. Baba Saheb Ambedkar
(4) Vitthal Ramji Shinde
33, ‘Teuve Fou M9 TITOT 0N ot ?
(1) 2. srie (2) g WERS
(3) foger Tt e (4) TR T
Who was the founder of ‘Depressed Class Mission’ ?
(1) Dr. B.R. Ambedkar (2) Shahu Maharaj
(3) Vitthal Ramyji Shinde (4) Mahatma Phule

12
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34. WY HOT FHSAT & HRATAA el IR GeA1 A ST ?
(1) drd g STaIRITYM
(2) feF ad gfEA
(3) o fheteey srmifeme
(4) e e Tz gfa sraifeee
Which one of the following is regarded as the first Labour Association in India ?
(1) ‘Bombay Workers’ Association
(2) Indian Workers Union
(3) Bombay Millhands’ Association
(4) All India Trade Union Association
35. TS GHATd ~--ee TR gt 39 o'
(1) yure (2) TR
(3) e o/ (4) o
___1is the highest peak in Aravalis.
(1) Dhupgarh (2) Gurushikhar
(3) Mount Abu (4) Panchmarhi
36. FERTIACT SHIOTcT TR fIFTIT Sty Al STeesard ?
O (2) IR
(3) @R (4) TR
Which administrative division of Maharashtra has the largest number of talukas ?
(1) Pune (2) Ahmednagar
(3) Nandurbar (4) Nagpur
37. WRATEAT JUIHEA STREHS NodTd YIEaTd JHI0T -----—-
(1) =H! & oI (2) doed e
(3) dred 9 (4) &RE WE gSd TE
The amount of rainfall ____ as one goes from South to North of India.
(1) decreases (2) remains same
(3) increases : (4) not much difference

13 P.T.O.
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38, WA SEHRIT WSl Ulgetl SUUE Hior ?
(1) wwERt (2) feott
() wAFw (4) emwg
Which is the first satellite launched by India in Space ?
(1) Bhaskar (2) Rohini
(3) Sputnik (4) Aryabhatta
39, —-eeeeee- & &1 uf¥em afedl a2
(1) @ (2) TR
(3) I (4) i
is a West flowing river.
(1) Tapi (2) Godavari
(3) Damodar (4) Koyana
40. T - SRR AT ASATEAT IS TRV GEEA 3T/ WaAHe S HROT
(1) & = g3 Te.
(2) =9 IR feror oTme.
(3) O I AT A § A I
(4) fafere sreiea AraaE § 99 920 R,
The Ganga-Brahmaputra delta is known as “Sunderbans” because
(1) these forests are beautiful.
(2) it has vast extent.
(3) itis named after a person.
(4) it is named after a particular tree.
41, TR VT THREAT GEHTT * AST-a6e AU HReAT TR ?

(1) ImEe (2) =EwE

(3) warHmEe (4) FTRR

In which of the following type of rocks “Ajanta-Ellora” caves have been carved ?
(1) Granite (2) Basalt

(3) Quartzite (4) Marble

14
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42.

a
1o | Ac: o o e— T 3R,
(1) % (2) R
(3) HARSH (4) enfEr
‘Melghat’ sanctuary isin _____ State.
(1) Kerala (2) Maharashtra
(3) Karnataka (4) Orissa

43.

WTeAeTdeh! ShIvTeT HREAT AR WA GEST Ggdid faree et 318 ?
(1) =R 2)
(3) —auers (4) FERHSS

Which of the following institution’s authority has been divided as per the Indian Federal
System ?

(1) Military (2) Railways
(3) Judiciary (4) Legislature
44. THTESTIC WA TTEH W 0T 3T ?
(1) we=as gaa (2) wuE gtaa
(3) g (4) == g
Who is the administrative head of a Ministry ?
(1) Assistant Secretary (2) Principal Secretary
(3) Commissioner (4) Chief Secretary

45.

TR A I el WreferE A e ?

(1) vmY=EEd (2) ege! wiHfq

(3) fotemr uitwg (4) iferd HHTR

Which of the following collects entertainment tax from the people ?

(1) Gram Panchayat (2) Taluka Samiti

(3) Zilla Parishad (4) Police Commissioner

46.

HERTSZ, TSATeAT fouasT e et aewre § & ------ R,

(1) RRe (2) Rece
(3) 3R (4) o
The number of elected seats in the Maharashtra State Assemblyis
(1) 29 (2) 288
(3) 292 (4) 280

15 P.T.O.



(1) R (2) &L
(3) W3y (4) wR
First mid-term polls for Lok Sabha were held in

(I)y 1971 (2) 1967
(3) 1995 (4) 1999

(] BYT
47, wUEE HEE - iATRE e
(1) fooer Ty w5
(2) dYEEd |Ed 939
(3) THUEEd 95
(4) foumE wE
The Sarpanch is elected by the
(1) Zilla Parishad Members
(2) Panchayat Samiti Members
(3) Gram Panchayat Members
(4) Legislative Assembly Members
48. wrmEITeE FHEeniad iy fdl wew Mase s ?
1 () u¥
(3) 8. (4) 3
How many members are elected from the Union Territories in the Lok Sabha ?
(1) 13 (2) 54
(3) 65 (4) 35
49, R TSTTA WHTOE - T A ST WO 3T
(1) e (2) gt
(3) e (4) TeET™
The Head of the State in India according to the Indian Constitution is
(1) The Prime Minister (2) The President
(3) The Chiel Minister (4) The Governor
50. SrREYAT UfeeaT HeATaty HagoreT --- - e HUgTe ST,

16
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51. T 7 SO GEAT SBET.
¥, &, 0%, §R
(1) ¥ (2) =
(3) w2 4
Find the odd man out.
41,61, 71,91
(1) 41 2) 61
3 71 4) 91
52. ST IERET A AISUIT Shell TR EeAerdsh v Feae=T a5 ?
feaw, @, am, fafe, wfew
(1) = (2) wfe
3) feow 4 fae
Which one of the following will come in the middle place if arranged in a descending
order ?
Day, Year, Hour, Minute, Month
(1) Hour (2) Month
(3) Day (4) Minute
53. T JEIHIY GRUST 36 UM Il X o I3 e arge qut g IR SO R U el o o f
Teaia e got giéet ?
(1) 3= faw 2) wiEw
(3) ¥xfEw (4) 2 feew
If 36 pages of a book are read every day, it can be completed in 22 days. If 72 pages are
read every day, in how many days it will be completed ?
(1) 36 days (2) 11 days
(3) 44 days (4) 18 days
54. @It eI SMTeT U .
9, RE§, 39, RY
(D) 2o 2 3o
(3) 38 (4) &%
Find the odd man out :
17, 26,37, 64
ny 17 2 37
(3) 26 4) 64

17 P.T.O.
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55. et e fA0eT0T 1. o St foreteh oi@er STl quT it ATErT STeTiE Tt |i.

R 4———5}%
(1) 4 (2) v
(3) ¥ @ =

Observe the following diagram. Identify the number of teachers who are writers but not
poets.

— Teachers
Poets —»
2 le—— Writers
(1) s Q2 7
3) 4 4 6
56. TETdIST SR Hew HiBal.
Y, Wy, 4§, &Y, ¥
(1) R¥ (2) uw¥
3) u& @ o¥
Find the odd man out.
24, 54, 56, 64, 84
(1) 24 2y 54
(3) 36 4) 84

57.

TS ST UaHT ¥.¢ HY. I GiaeR ged 7%, 82 e at [y 9t a¥ st o) Je=a1 fafere ot
Ro THT GTett AT, T AT T @I ST ZishTell UIgeuarg waTelT fehdt o efrier ?

(1) ¥¢ e (2) &y R

(3) cx iR 4) < ffR

A lizard is climbing over a pole of height 4.8 m. Every minute it climbs 25 ¢cm and comes
down 10 cm by next minute. How much time it will take to reach at the top of the pole ?

(1) 48 minutes (2) 64 minutes

(3) 84 minutes (4) 92 minutes

18
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58.

Tctean mfershan Yeer e .
*OAD,0AO0%,A0%0 2

() OA%*O (2) C1*0A
(3) O*A0 (4) Ooax*

Find out the next member of the given series.
*OAD, OAO*, AO%xO, _?7

(1) OaAax*0O (2) O*xo0a
(3) O%xA0 4) goax
59, fag=ar e Sretona wHioe der 33 7
3% 3
2 3 X
(1) 3\ (2) oo
(3) 3 (4) ¥

Find the missing figure in the third triangle.

2 3 4
(1) 25 (2) 100
(3) 121 (4) 144

60.

X UHTAT TS, Teiell SIS, ShTETeT! fugrel of fusmaien U weel o) foramonara! Wreierden! o e
FTATEE Uliestd ?

(1) ugha T (2) et R

(3) U9 ferat (4) o

If pen is called scale, scale is called paper, paper is called bag and bag is called pen, then
which of the following should be used for writing ?

(1) Scale and bag (2) Bagand paper
(3) Penand bag (4) Pen and scale

19 P.T.O.
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61. “THHA o T WA A AT HIvTT STty gt ?
(1) ¥ A= Terend.
(2) T HIOTART T FI=ATTHIO TEhThd ATe.
(3) T o] HI=ITIHTOT TTCAT STHATC.
(4) S TS T qrHIAd O diTel ST 79 L
What is the meaning of “All that glitters is not gold” ?
(1) Gold always glitters.
(2) No other metal glitters like gold.
(3) Some objects are good like gold.
(4) Those who pretend to be good are not always good.
62. RIS ATST HEF il
v, 2T, 23], AR
(1) v (2) W
(3) W (4) 2¥3
Find the odd man out.
77,121, 131, 143
H 77 2) 121
(3) 131 (4) 143
63. R MUMBAI < Sishfaeitor 4’ 31det i@ MADRAS =t Hishfaeor &/ aiget ?
(1) x& (2) &
(3) =&¥ (4) &4
If MUMBAL is coded as 59, then what will be the coding of MADRAS ?
(1) 46 2) 56
3) o4 4) 65
64. AT B T v Gt 30 o e, A 7 C gieamdiet 3iek C 9 B gieamsier siquren t 3.

C# A9 Bgi=nzvad e @ Ca B gieameier sier ot ?

(1) <&@ (2) 3@

(3) wedHt (4) =y 9

The distance between the points A and B is 48 ¢cm. The distance between A and C is half

the distance between C and B. C is in between A and B. What is the distance between C
and B ?

(1) 16cm (2) 32cm
(3) 48cm (4) 64cm
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65. QIO GAICTIET ST TOT STEUTHET SHHY 70T THeATe. TATHEAT T ShHY JUT STEUTHeTT SR T[0T Hesret
T | ST 07 SHIOTEAT fHeaTer ?
(1) ™= 2) M
(3) oww (4) g9

Subhash got more marks than Sunil, but less marks than Arun. Shyam got less marks than
Ram, but more marks than Arun. Who got the highest marks ?

(1) Ram (2) Shyam

(3) Arun (4) Subhash

O P ——
1T 2
0 @
3) @

Find out the next member of the given series.

X x {?
—

(1) ()
3 “4)

67. U Githfees s THUMB = BMUHT, &R e ®ishfaes amod ‘STORM ¥1% &1 feferet 7
(1) MORTS (2) MROTS
(3) MORST (4) MROST

In a certain code language, ‘THUMB = BMUHT’, how will you write ‘STORM’ in the
same code language ?

(1) MORTS (2) MROTS
(3) MORST (4) MROST
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68. T PILE worst w4&% & BOSS ®urt 333, @ POSSIBLE wurst ferctt ?
(1)  9IRIREYY (2) ©RIURERY3
(3) WRIIUENR (4) 9RIURRY
If ‘PILE’ stands for 7564 and ‘BOSS’ for 1233, then ‘POSSIBLE’ stands for .
(1) 73231645 (2) 72351643
(3) 72335641 (4) 72335164
69. T Hidktas s BEEF = Juu&, % wrd SN <R ¥y = 37 1 et 7
(1) DIED (2) HIDE
(3) PORK (4) WIDE
In a certain code language ‘BEEF’ means 2556, what will be the meaning of 8945 in the
same code language ?
(1) DIED (2) HIDE
(3) PORK (49) WIDE
70. a >< y g >< s
b zZ h ?
(1) S 2 T
3 U (4) Vv
b Z h >< 92
(y S 2 T
3y U 4 Vv
71, RWR:I¥Y 1 lwwl: 7
(1) ¥co (2) ¥e¥
(3) wee (4) ¥Ro
121:144 ::441: _7_
(1) 480 (2) 484
(3) 488 4 490
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72, foeie 9@ iear.
(1) 3 2) %2
(3) = 4) 2
Find the odd man out.
(1) 31 (2) 41
(3) 6l 4 91
73. SR-(R*3)=0,MR-B*u) =7
1 ¥ (2) R
(3) « 4) o
If1~(2%3)=0,then2— (3 *5)=2?
1 4 2 2
3) s 4) 0
74. UTATTRSIAT ST G Aee 7
4, 23, R, U3, _2_
1 (2) ¢3
(3) ¥ (4) <
Which number will come next ?
5,13,29,53, 2_
(1) 82 (2) 83
3) 84 (4) 85
75.  USHGRTSIIT ShivTdr GEAn d5et 7
%, 2, I, IR, _2_
(1) ¥3 (2) ¥u
(B) % @ =R
Which number will come next ?
11,16,23,32, _2_
(1) 43 (2) 45
3) 47 ) 49
23 P.T.O.
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TR TSI ShioTe! S dset ?

2(3) ¢ ¢ (W9, 9 (?)&Y
1 e 2 ¢
(3) R (4) 2

Which number will come in the place of question mark ?
1(3)8, 8(5)27, 27(1)64

BYT

7 (2) 8
3) 9 4 10

77.  VRATERTSTT o) T Aser ?

2 ¥ ]

3% W 2§

LX‘% ? A
(1) e (2) ues
(3) =&¥ (4) 92

Which number will come in the place of question mark ?

1 4 9 |

36 25 16
49 ? 81

(1) sl 2 57
(3) 64 4 7
78. UYATGISTRT I AT A5er 7
R W, R, _?7_
(1) 38 2) 3«
(3) ¥o 4) ¥R

Which number will come in the place of question mark ?

11, 18,27, 2_
(1) 36 @) 38
(3) 40 @) 42
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79.

o
TSR 0T SETe Ased ?
ZY, WV, SR, NM, 2_
(1) HG (2) OP
(3) LK (4) KL

Which letter group will come in the place of question mark ?

ZY, WV, SR,NM, _?_

(1) HG (2) OP

3) LK 4 KL
80. R fehendiet : war, X forew: ?

(1) ur= (2) i

(3) WS (4) st

If Kilometre : Road, Litre : ?

(1) Grains (2) Water

(3) Cloth (4) Length
81. U I YU 2% Tohs HA TWedrd, it fehelt Aot rarelt e ?

(1) v 2 r

(3) %o 4) R

How many times a rope should be cut down to get eleven equal parts of it ?
1 11 @2 9

(3) 10 4 12

82.

STSTIRIA 3 AT TS TF Y TGS, T ARG W TS re o foett ot &t ?

(1) Ro @ o
3) ™ ' ORRE
Naresh will be 25 yrs after 3 yrs. How old was he before 5 yrs ?
1) 20 | @) 17
3) 15 4) 18
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83. AT SRAUIHS i o IUT 3R, o R0 IT i o AT ST ST TbeTl, T STl T i
i e 27 ?
(1) of¥=m 2
(3) S (4) W
Rama is standing facing the South direction, if he turns at 90° to his left, what’s the
direction he is facing now ?
(1) West (2) East
(3) North (4) North-East
84. IS SMFATE TS 3k .
94 “ ™
co ? R0
¢ & 3
(1) v 2 ¥
(3) u 4) =
Insert the missing number in the following figure :
75 5 15
80 ? 20
78 6 13
1 7 (2) 4
3) 5 4 6
85. e ST evifera sTeeie A 3ieh Siesg Hifetst quT .

L\, g) g) 207 23’_?*’2\5
(1) 2R (2) 2
(3) =& (4) ¥

Complete the series by identifying appropriate digit in the blank space.

5,6,9,10,13, _2_,17
1 12 2) 15
3) 16 4) 14
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86. WA =12, B=3anforC =33 %am fafed g QPL i<t St fovedt 7

1) ¥ (2) uu

3) ¥4 (4) 34

If A=1,B=2and C = 3, in this way if we write serially, then what will be addition of
QPL?

(1) 54 (2) 55

3) 45 4 35

87. e qrafocter veates u ffe qe o’ o wmet s 3 vt ?

(1) 2o @ ¢ fufe gy Qe
(2) o TW Y4 AR R0 WEE
(3) 2o @ ¢3 fafE R0 WEE
(4) 2o ¢ fufie 0 Wby

The watch shown in the fig. is 5 minutes fast. What is exact time shown by this watch ?

(1) 10 hours 8 minutes 15 sec.
(2) 10 hours 5 minutes 20 sec.
(3) 10 hours 13 minutes 20 sec.

(4) 10 hours 8 minutes 20 sec.
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88. GO Triea HETTY 37 3. A IeAT IR AT {% o 3R T I Al bl ?
(1) Ro (2)
(3) (4) 3
Sushma is in the middle in a queue. She is number eleventh from both sides, then how
many girls are there ? *
(1) 20 (2) 21
3) 32 4) 23
89. ‘F’ amfor ‘O’ FieA AT fohed 3veR et ?
(1 v Q) ¢
(3) < (4) =
How many letters are between ‘F’ and ‘O’ ?
(1) 7 ) 8
(3) 9 4 6
90. UF HSAS RIMEAR Ia01. HESAB <A SR Werd! 95 8 ¥ e 4 Wi giel. T aeamn
TR et arsTet g 7
(1) c.uy (2) .y
(3)  c.oy (4) v.o4y
A clock is placed in front of mirror. In the mirror the time seen is 5 minutes past 4, what is
the actual time ?
(1) 8.55 (2) 7.55
(3) 8.05 4) 7.05
91. W AR F FegTean ST hiordt fere adet ?

OhA+, hA+0O, A+Oh, +Oh 2
(1) + @ o
3) A (4) h

What should come in place of question mark in the series given below ?
OhA+, hA+0O,A+Oh, +Oh_7_

(H + @ O

(3) A 4) h
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92. T 7 SHUIRT Y1 M.

(1) e (2) TR

(3) deETeA (4) wiga

Find out which word does not belong to the group.
Washington, Baghdad, London, Canada

(1) Canada (2) Baghdad

(3) Washington (4) London

93, UMER @ s © K - 2

(1) 3mamt (2) @

(3) I=HW (4) wia
Alphabet : Word : : Word : _?_

(1) Sound (2) Sentence
(3) Dictionary (4) Music

94, TIZTA A SHUIRT IS SN,

4, %, @, TCh
1 v (2) =%
3) wE (4) wH

Find out the word which does not belong to group.
Mercury, Moon, Pluto, Venus

(1) Mercury (2) Moon

(3) Pluto (4) Venus

95, e FHivad Wik g ‘FHNPCE’ &1 91 ‘GOD’ 3% fafeda & gl ‘ACDFCE’ 81 91 &=
Hichldeh o T fore ?
(1) ROD (2) DOT
(3) BAD (4) BED

In a certain code language ‘FHNPCE’ is written as ‘GOD’. How you will write ‘ACDFCE’
in the same code language ?

(1) ROD (2) DOT
(3) BAD (4) BED
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96. 3% TR ST Y@t G e, Se We o1 Al 9REm oed. P, Q, R, S % 9R aejw weAfag
IR fog P urg ufve® &2 die e At S R TV SeadTs RETd el ST ot

AT T AT foRTuTt TR STl T YR ITaRS Rl Fe30T veet 7

R
O 4 _LS
(afem) ()
6__
() -
P
(1) e Q) ¢
(3) 4) R

A figure of garden is given here. All sides of the garden are equal in length. P, Q, R, S are
the midpoints of the four sides. Ramesh started walking from point ‘P’ facing west. He
walked along the sides of the garden and came back to his original place. How many times

did Ramesh turn right ?

R
OT TS
(West) (East)
() -
P
1y 7 2 8
(3 11 4) 12
97. @Il Hiietehd UYAT-8=aT ST 3{eh M.
¥3, 34, ¢, _7_R¥
(1) R 2) v
(3) us 4

Find out the digit at question mark in following series.

42,35,28, _?2 ,14

1y 12 @ 7
(3) 56 4 21

30



BYT

98. a1 3MFat fohell FrehoT 3Meer ?

1 R )
(3) ¥ (4) 2o
How many triangles are there in the figure ?
(1 12 (2} 13
3) 14 4 10
99,  SYATEETAT ST UK HEAT Hvrt ?
o ¥ ] R
¢ (2 R R () ¥ 2 ( 9 0
9 & ™ 29
(1) Ry (2) Rv
(3) ¢ 4) =R
Which number will come at the place of question mark ?
10 4 9 12
8 (15) 5 9 (12 ) 5 12 (20 ) 4 1?2 )10
7 6 15 17
(1) 25 2) 27
3) 28 4) 29
100. THT TS SSETHIET TET ST ST . R I YeTaeAn He v S 3T, [HATS ST s
AT ST FeASTeAT TR THAT 378 17 ey STTes FTHor 3E. T GeTeeal §H R /0] 59t 378 ?
(1) R ) wdw
(3) fom (4) oo

Six persons are sitting around a round table. Satish is between Sudhir and Suhas. Gurunath
is sitting near Ashok and is in front of Satish. Vijay is sitting near Suhas. Who is opposite

to Suhas ?

(1)  Sudhir
(3) Viay

(2) Satish
(4) Ashok

31






